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3DGD� NHVHPSDWDQ� NDOL� LQL�� SHQXOLV�PHQJXFDSNDQ� WHULPD� NDVLK� \DQJ� WXOXV� GDQ� LNKODV� NHSDGD�

VHPXD�SLKDN�\DQJ�WHODK�PHPEDQWX�SHQJHUMDDQ�3UR\HN�$NKLU�LQL

�� $OODK�6:7�DWDV�VHJDOD�.DUXQLD��5DKPDW��GDQ�KLGD\DK�1\D�PDND�VHDJOD�FREDDQ�GDSDW�

WHUDWDVL�GDQ�WDN�KHQWL�KHQWLQ\D�SHQXOLV�PHQJXFDS�V\XNXU�NHSDGD�1\D�XQWXN�NHVHPSDWDQ�

EDJL�SHQXOLV�VHKLQJJD�SHQXOLV�GDSDW�PHQ\HOHVDLNDQ�3UR\HN�$NKLU�LQL��$OODK�0DKD�%HVDU��

$OODK�0DKD�0HQGHQJDU��$OODK�0DKD�3HQJDPSXQ��$OODK�0DKD�3HUNDVD��$OODK�0DKD�

0HQJHWDKXL��$OODK�0DKD�3HPEHUL�3HWXQMXN��$OODK�0DKD�3HQJNDEXO�

�� ,U��$JXV�*DQGD�3HUPDQD� 0�7�GDQ�%DSDN�'DGDQ�1XU�5DPDGDQ��6�3G��0�7��\DQJ�WHODK�

PHPEHULNDQ� PDVXNDQ�� VDUDQ�� NULWLNDQ� GDQ� GRURQJDQ� GDODP� PHPELPELQJ� SHQXOLV�

PHQ\HOHVDLNDQ�3UR\HN�$NKLU�LQL�

�� .HGXD�RUDQJWXD� �VHUWD�NHOXDUJD� WHUGHNDW��%DSDN�6DQZDVL�GDQ�,EX�/LQD�5RVOLDQD�VHUWD�

NDNDN�VD\D�*LODQJ�3HUPDQD�\DQJ�VHODOX�PHQVXSSRUW�GDQ�VHODOX�PHQGRDNDQ�VD\D�KLQJJD�

SHQXOLV�GDSDW�PHQ\HOHVDLNDQ�3UR\HN�$NKLU�LQL�

�� 7HPDQ� VDWX� ELPELQJDQ�3UR\HN�$NKLU�� WHULPDNDVLK� NDUHQD� WHODK� EHNHUMD� VDPD�GHQJDQ�

VDQJDW�EDLN��0HPEDQWX�PHQ\HOHVDLNDQ�SHUPDVDODKDQ�EHUVDPD�VDPD��'DQ�VXGDK�EHNHUMD�

NHUDV�XQWXN�PHQ\HOHVDLNDQ�SUR\HN�DNKLU�NHORPSRN�LQL�

�� 7HPDQ�GHNDW�GDQ�VHSHUMXDQJDQ�$FKPDG�6KLYDQ��5DVO\DQWK\ )DZ]H\D�5��1XU�)DGKLOD

'LDQ�3XWUL��6DWULDQV\DK +DGLVW�5��4LVWKLQD 6\DG]D��<ROOD�*XVULDQWL�� ,UV\DG�=XIDU�GDQ�

WHUXWDPD� 5L]ND� 7ULDQL� =DKUD� \DQJ� VHODOX� PHPEHULNDQ� GXNXQJDQ� GDQ� VDUDQ� XQWXN�

PHQ\HOHVDLNDQ�SUR\HN�DNKLU�LQL�


